
ADALET
A SCOTT FETZER COMPANY
Enclosure Systems   Cable Accessories

ECNREVISIONREV BY DATE

NOTICE TO PERSONS RECEIVING THIS DRAWING:

DIRECT  WRITTEN  PERMISSION  FROM ADALET-PLM  TO THE USER.

     ADALET-PLM  CLAIMS PROPRIETARY  RIGHTS  IN THE MATERIAL
DISCLOSED  HEREON.   THIS DRAWING  IS ISSUED  IN  CONFIDENCE
FOR ENGINEERING INFORMATION ONLY AND MAY NOT BE REPRODUCED
OR USED  TO MANUFACTURE  ANYTHING  SHOWN HEREON  WITHOUT

FILLET RADII .03"

NOT OTHERWISE SPECIFIED:
GAGING FOR THREADED HOLES

EDGE BREAK .005"-.015" R. or 45°

NPSM E-24-1.0
NPT E-21-2.6

ANGLES ± 0°-30'

CAT NO

FINISH

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN INCHES.

NOT OTHERWISE SPECIFIED:

DO NOT SCALE DRAWING

FILLET OR CORNER RADII 1/8"

CAST TOLERANCES ON DIMENSIONS

MACHINE TOLERANCES ON DIMEN-
SIONS NOT OTHERWISE SPECIFIED:

.XXX ± .010"

FRAC ±1/16"
ANGLES ± 1°

.XX ± .03"

DRAFT 1 1/2°

  = 125 MIN

  = 1/8" STOCK

MATERIAL

DWG NO

MFG APPROVAL

ENG APPROVAL

DRAWN BY

TITLE

PLOT SCALE

DWG SIZE

DATE

SHT REV

D

1=1.33

1OF1

Cleveland, OH   44135

SDP 1/9/07

BPML 415A
QUIK-FLIP PLUG MALE LINE

COUPLER

BPML 415A

8
9

1365161514

4

11

10

12

20

19

18 17

13

7

2

ITEM PART NO. DESCRIPTION QTY. ASM. NO. ASM. QTY.

1 60863 C2158 QUIK-FLIP PLUG BODY ASM 1

2 C2164 GASKET, QUIK-FLIP 1 60863 1

3 60860 D1257-2 415 END BELL ASM 1

4 60876 C1418-H MALE INSULATOR ASM 1

5 2-12 BOLT HH 1/4-20 x 1 1/4" SS 6

6 2-13 WASHER FLAT 1/4" I.D. SS 6

7 55135-B PLUG COVER w/ CABLE & HDWR 1

8 60861 CVR ATTCH CABLE w/HDWR Q-FLIP 1 55135-B 1

9 60864 PLUG CVR FLIP BOLT ASM Q-FLIP 1 55135-B 3

10 61067 A2220 PHASE CONTACT MALE ASM 3 52612 3

11 61069 A2222 MALE GND CONTACT ASM 1 52612 1

12 A2066 MALE LOCKNUT 4 52612 4

13 51907 A ADDER MALE GRND CHK ASM 1

14 C1260 END CASTING 4" 1

15 TABLE 1 RING, 415 1

16 TABLE 1 GASKET 1

17 TABLE 1 END CLAMP, 415 2

18 1-08 BOLT, 3/8-16 x 2.50 HHTB 4

19 2-16 LOCKWASHER 3/8 SPLIT 4

20 1-42 NUT, 3/8-16 HVY 4

21 61037 GROUND W IRE ASM 1

*22 60577 A1717-1 CABLE TERMINATION KIT 1

ITEM DESCR. 1.15-1.30 1.31-1.45 1.46-1.60 1.61-1.75 1.76-1.90 1.91-2.00 2.01-2.10 2.11-2.20 2.21-2.30 2.31-2.40 2.41-2.50

15 RING   A1259-XXX -275 -275 -275 -275 -275 -275 -275 -275 -275 -275 -275

16 GASKET  A1258-XXX -130 -145 -160 -175 -190 -200 -210 -220 -230 -240 -250

17 END CLAMP B1356 B1356 B1357 B1357 B1320 B1320 B1261 B1261 B1262 B1262 B1262

ITEM DESCR. 2.51-2.60 2.61-2.70 2.71-2.80 2.81-2.90 2.91-3.00 3.01-3.10 3.11-3.20 3.21-3.30 3.31-3.40 3.41-3.50

15 RING   A1259-XXX -275 -275 -325 -325 -325 -325 -325 -375 -375 -375

16 GASKET  A1258-XXX -260 -270 -280 -290 -300 -310 -320 -330 -340 -350

17 END CLAMP B1263 B1263 B1264 B1264 B1264 B1265 B1265 B1266 B1266 B1266

CABLE OUTSIDE DIAMETER (INCHES)

CABLE OUTSIDE DIAMETER (INCHES)

TABLE 1

* ITEM NOT SHOWN

21


